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10. The average of 13 papers is 40. The
average of the first 7 papers is 42 and of

the last 7 papers is 35. Find the marks
obtained in 7th paper? \ 2X Y0
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14. The average score of a batsman after his 14, U® Tediaral &1 5041 Urfl & a1E 9d R

50th innings was 46.4. After 60th innings, 46.4 41| 6031 UT & A1E IUHT WA TR
his average score increases by 2.6. What fz,sumhﬁuﬂmuﬁtﬂﬂm
was his average score in the last ten ot TR R’ AT ¥
innings? 3 UPSC PT 2020
~ GoxYs UPSC PT 2020 Quty MJA‘ |o Mat dbe,

a) 122 — Qo kﬁ: @X16 HDXPL a) 122°n
b) 91 T — ST, b) 91727 . ¢ A
e éfg"‘ﬂ""m‘ré-évi ph % £
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d) 49 _ (0O
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17. Consider the following addition problem : 17. Fufaf@a oz @Ry & wy w AR
3P + 4P + PP + PP = RQ2; where P, Q and R Fifore.

are different digits. What is the arithmetic ( 3p) +(4P) + PP + PP = RQ2; W] P, Q YT R firm

mean of all such possible sums? I® § EMWWMW
\/\\&UO\&/& UPSC PT 2021 &? UPSC PT 2021

a) 102 a) 102

b) 120 262 Y2 b) 120 Eja?,,‘?‘

y g L€) 202
d) 220 e 107 220
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18. Consider the following Table: \ \/.~— 18. Frafaf@a anvft w e Fifw.

m‘v Runs scored n BastactscntrefR.nssmrecﬂfteT Bals faced n he m m wm WM mmﬁ
Pe 15t nAngs istinings | 2ndinnings n¢ rrngs ot | ﬂﬂ‘!ﬁﬂf ﬂm 7 @
el & 1| & 1 » | = TR R’ M WK
+ + — . meH
B 05 g ) 8
! ‘ + 4 A 61 99 14 76
» 15 i X X
- - - - B 05 12 50 85
D 8 | 0% 2 J g
- - - C 15 75 20 50
D 13 55 12 50
Who is the fastest run scorer in the Test Match ? Wéﬁhﬂ.maﬂﬂﬂﬁmﬁ?h
UPSC PT 2021 UPSC PT 2021
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1. The product of largest and smallest value of “k” 1. k" & Ha® 98 3R A DI A ST (UG &1

for which 5k32k73k801k can be divisible by 9 g, forad fore 9T 5k32k73k801k, 9 | faursy
will be? (Here, K is a single digit positive B A@d! 87 (TBT, K U UHd I YIS QUIld

integer) 1)
I. For minimum value the value of K will be | qaanmtf?mxmmuhzamwml
multiple of 4 and 8. \/kmmaﬁ'cﬂnmmxmaﬁmam
Il. There will be unique value of K as maximum A | |HH I
and minimum value of K will be same. a) Had HYF | Tal 4
a) ly statement | is correct \/b)/&d'ﬂmﬁllﬂ'ﬁ%l
\)z:ly statement |l is correct c) ah’fmaﬂ?.l
¢) Both the statements are correct d) 12 Wt Fy= T8 T 2

d) None of the statement is correct
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2. What will be remainder when 74 is 2. 74 %48 ¥ fawiford #37 W Auwa &1 ghm
divided by 48. Al  UNUBE TS AU S |

I. The remainder will be a prime number. ||.>§=irmmwﬁw H@ 3R EWWI

II. The remainder will be an odd number and a) Had DY | Fﬁ%l

a multiple of 7. b) &ad HYF Il el %l
a) Only statement | is correct ¢) Sl HYF Hal ?I
b) Only statement Il is correct \w Wt Hy=7 Tt T8l 2

¢) Both the statements are correct
\9/None of the statement is correct




3. 5x423z is completely divisible by 88, then the 3 m 5x423z , 88 & qufa fAursg & @t 2x + ém

value of 2x +@)VI|| be?_ 2 mmﬁ‘m‘} t‘j
I.  The value will be divisible by 8 Y 1. W8 ¥ faursa g __U_)( E 2Xg _ﬁ-
Il. The value is a prime number SN, W US UG &I 2
IIl. The value can be expressed as sum of twoy. mﬁa}mmmgﬁtlﬂn *u H
consecutive prime numbers. ad far & 9&dr 2
IV. The value can be expressed as sum squares of |y, T $] 3 HE-AHUSAT S TN &S AT S H ad
two co-primes. X ﬁmmm?n
a) Statement | and Il are correct a) YT 3R 11 TS B ¥
b) Statement Il and lll are correct b) &Yl T m Wﬁtl TZ
\Q/Only Statement Il is correct ey Had HYA Il Gl 2|

d) Statement Il and IV are correct d) mllahvlvaﬁtl
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4. How rhany integers between 200 and 400 4. 200 3R 400 & 414 fa quit® 7 | fAvreT &2

is divisible by 7. L~ quifet #t e ue srvre w@m ghft

. The number of Integers will be a Prime \I}/‘ﬂ'@l!ﬁﬁ YT FSAT3H & a7l & T &
number wU # o farar o w@an 21

II. The number can be expressed as a sum of a) Had HYA| el gl —2%: ;_ R gu_.
squares of two Prime Numbers. b) &ad YA II el gl 4
a) Only statement | is correct \/c)/ Il HYF WEl B
b) Only statement Il is correct d) Eﬁ‘f W sy ﬂ'ﬁ H’ﬁ ?I

ﬂoth the statements are correct

d) None of the statement is correct
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5. 2% when divided by 9, the remainder will 5 ' 2%° B! 9 & Ry #33 W Yuwa a1 gvm
be? I o1& 2384t 17 | fawfore fear smomm &
l. The remainder will be same as when 2%  QYHd g8l U NI
will be divided by 17. 12X Fwa 2 3k 3 @ Rrrea g 93\@1

Il. The remainder will be divisible 2and 3. 29 a) ¥dd $Y= | WEl g
a) Only statement | is correct _ " <—") X1 b) FaasTnaH L

P

| F
b) Only statement Il is correct ﬁ c) a'-ﬁmmﬁtl <2_\1 )74
AT

Vh the statements are correct 9 -—__‘1 \W Wt Y= Fﬁ?ﬁ?ﬁ
d

None of the statement is correct 3 7
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